FIVTFREI—E

RREBAR—LT40T AR &
20164 7F 28H

(20165 7H218 #H7#)

1~45@AFLKEBIV Y KTREBIIHERENODEES
TEHY
X7 2 ﬁ%('gfﬁ) ki BTRIK 5 &
0 40 (HRBESLY (B I=HEIE K 26E7INFTH—ER
c 0] 40 |PEAEEIGEE ROTEAR TR EFSIITI—ER
(o} 5 1000 [MEABELLY (OSUVESR) SrLEKE (M)
cH 8| 1000 [WMEAFEELYOIUIEE) SrALEKE (M)
25| 1000 [BEAEEELSGEE) SILEKE (C)
P 6 | 1000 FEABE I (FE) EREX BRBET
23 1000 [BEABELLY (TFUDES) SrLEKZ (C) Bk DS KE CEr A LT T- 05 R 1
& 26| 1000 |REMREES (GS5UCEA)  [RREK STy
= BokanIB
G1 72 100 [FEHEE=5-7 (A1E) XL IR |ROLE/K(ZK)
G3m 24 1000 [HEAREEE Y (5%) ZRERER R
AIEFK (BEER)
7 1000 [SEABEHE LY (B%) LRERERE
G3% MIE7§7K(EE§Q
33 1000 |SHEABE LY (58 SrLEKZE (C. R)
G3it 6| 1000 MEAEEESSGRE) SILEKE (C)
16 1000 |SHEABHESL Y (OSVDHESR) SrALEKEZE (M) Fa/K F = &x A 2L
G4/ — 162 DA, 28 (LR HRE
cadtt 6| 1000 EABESSS(I50CRA)  |BRARESRR
AIEFK (BEER)
as 17 1000 |SHEABEERSH (OSVDESR) LRERERE
AIBFEIK (BEE%
a6t 19 500 |HEABREESY (T SER) SHREKE (M) RAV D RSN, 1ERAEBIE
20-1=19
G6/ 18 500 |HEABEELY (I50SER) SHLEKE (M)
a7 10 700 [SREABFHE ALY (B) LRERERE
AIBEK (BEE%
63 1220 (HEAREE Y (BE) ZRERERR
H1 PIEED-S
(BRSR- Bt e - 3R
20 1220 |SEABE LY (58 ZRERERR
H1% IIEE K (R - 15%)
8 1000 |SHEABEBE LY (OFODESR) SrLEKZE (M)
HS 23| 1000 BREABEGL S 5o SEE)  [BREK ERLET
H6 24 | 1000 |BWEAGESY (O CER) EEEK B KA
Hadt 5| 1000 AEMABESSSCERE) SILEKE (C)
HBE 11| 1000 REABEZSY (RE) SALEAE (R)
Ho 5| 1000 [EARBEZ 7 (J5oCER)  |ROBEK(EK)
HOE 7] 1000 PREARBEE S (J5oSESR)  |ROBEK(EK)
90 1000 [HEAREEE Y (B%) ZRERERR
SLIRF K (BESR - 123%)
2 1000 [SEABEHE LY (B%) LRERERE
J1 ALEEFEIK
(S EERR A BREE)
8 1000 [SEABEHE LY (B%) SriLiEKE (C)

1/2




TE&HY
Ty £ é‘-%u\]ﬁ) BUHE FEEE K ® =
m3
42| 2400 REABEESS (BE) ERRERE AR
J2 MK (BESR - 185k
22 | 2400 [MEABEEY(EE) EZ A ]
J3 AERFEIK
(BEER - 1835 - St aE)
30| 2900 [MEAEEES (AR ERBREAR
sk
a (BE3% - 1835 - S it ae
5 1160 [HEAEEASGERE) ERBREAR
sk
(BEE%)
5 35| 1235 |[MEABREY (AR e T ]
ok (BEER
6 38 | 1200 [MEABEEY (AR ERBRESRE
IOk (BESR - 50
42| 1200 |WEABEELS FE) ERBREAR
J7 sk
GERFg:a
9 700 FAEABEASD GBE) ERBREAR
Js AR K (BEER)
K1t 12| 1200 [EEABEAS BE) ERBREAR
MEF K (FtEaE)
K1 10| 1160 FEEEBEAH GEE) SEKE (R)
1| 1000 [FEHH ZREREARE
I K (BEER) TNES
K2 271 1000 |REABEETS (RE) STEXER)
K3 12 700 AEABES D GAE) ERBRE AR
— MEF KR
SHERE 4] 1100 PIEABREA D (J5oCER) | SRERERE
i K (BEER)
SRS 3| 1235 [WEABEEASGERE) ERBREAR
BRERH MEFK (SiEaE)
TEF 2L ] 3| 1235 EEABEAH (GEE) E
B 35 0 RIS K (158)
At 882 SHLEKENR C: IV LARBERESF. MiENMLVBRANOVFILBRERES
R:ROEMAMER . A: SHERER S
BRERER
D 10| 1000 HEABEASD GRE) ERRER
H2 3 100 EEBEEESD () ERER 4ET A TI—ERX
EREREKRIELY
[ | 28]  100[mmmE=EsL s (AR XEIPER [EREREK FEEADRITELITHY ., BAERMEA

5, 65 ARG EKETES Y

1&2H7-Y
B |58 0w ez Rk %
6 35 |BRALGS (B 5. 6EBREK Yoy
6 42 [ARATSS (R 5 6B BBEK Y
F2 4 110 |[SRARLL Y BE+ISUOHES) (6, 65HHEK BAH
5] 160 |BEABEAL (I500ER) |5, 65 BREK g
2| 200 [BEABEALT (I500ER) |5, 65 BREK g
3| 2900 [BEABEALS (I50DER) |5, 65 BREK 5 s
F1 18| 508 MEABESCH(J50EE) |5 6BBREK 5D
5] 1100 BEABEES (RH) 5 6B BBEK .
et 49
(B%)
. S FAV Y L2
H3 | 9| tooolmmmmmasSLUES)  |wTk

2/2



